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M2l =g 10,280,000 7,350,000 2,930,000
210
BHHAN 2+ 6,710,000 4,720,000 1,990,000
212
Mz 6,630,398 4,675,169 1,955,229
212-03
ot AER 6,630,398 4,675,169 1,955,229 ot AMEZ
- JIEE 5,374&x27,00021x128 = 1,741,176
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2z020Ix42 79,602 44,831 34,771 © BI20IXt4¢ 79,602,008 = 79,602
220
2 Al E Al ¢ 3,570,000 2,630,000 940,000
222
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222-01
ZHALHZ 1,500,000 1,500,000 0 ZHAHL S 1,500,000,000& = 1,500,000
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fE=2 2,000,000 1,000,000 1,000,000
227-02
2EtRE S 2,000,000 1,000,000 1,000,000 @ ot+=C&CINHEH = 2,000,000,000& = 2,000,000
229
AE &2 70,000 130,000 260,000
229-01
AetE E a2 70,000 130,000 A60,000|= ot+=ZAIEZ 70,000,000& = 70,000
Hoel & A 10,280,000 7,350,000 2,930,000
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